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import sys
sys.path.append("statlib™)
from xtest import Kruskal _Wallis_test

Kruskal Wallis_test(x, g=None, multiple_comparison=False, verbose)
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import sys
sys.path.append("statlib")
from xtest import Kruskal Wallis_test2

Kruskal_Wallis_test2(d, multiple_comparison=False, verbose)
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import sys
sys.path.append("statlib")
from xtest import Kruskal_Wallis_test

a = Kruskal_Wallis_test([3, 2, 4, 2, 3, , 4, , , 1, 3, 4, 5, 4, 5],
[1, 1, 2! l! 3’ 3! ]‘! ki 1’ 1 ’ 2’ 1! 2’ 2])

Kruskal-Wallis test with multiple comparison

chisq = 0.62667, df = 2, p value = 0.73101
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b = Kruskal_Wallis_test([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
[llall’ llall, llbll’ llall’ llcll’ "C", llall’ Ilcll " II’ Ilbll,
llbll, llbll’ llall’ |lbll, llbll])

Kruskal-Wallis test with multiple comparison
chisq = 0.62667, df = 2, p value = 0.73101

3.2 f{EFRHI2

BEROMDOT—y %2 _HY A +TEZ 5,

fEHIG 1 ERU T = 2R L T CE 25, £, ZEHIKZITI,

¢ = Kruskal_Wallis_test([[3, 2, 2, 4, 3,
[4, 1, 3, 4, 4, 57,

51,

[3, 5, 3]], multiple_comparison=True)

Kruskal-Wallis test with multiple comparison
chisq = 0.62667, df = 2, p value = 0.73101
Multiple comparison

chisq p value
0:1 0.537778 0.764228
0:2 0.326667 0.849308
1:2 0.000741 0.999630
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from xtest import Kruskal Wallis_test2
d =[[6, 2, 2, 1, 17,

[1, o, 1, 3, 117,

[0, 0, 2, 0, 111
e = Kruskal_Wallis_test2(d)

Kruskal-Wallis test with multiple comparison
chisq = 0.62667, df = 2, p value = 0.73101

4 BEFED Python BIE & DLLE scipy.stats.kruskal ()

scipy.stats.kruskal () 3#EE DY 2 + THE T 525, statlibKruskal Wallis_test() Tl ~EHY
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x = [3,2,1,2,3,2,2,2,1,2,3]
y = [4,3,3,2,2,3,4,3,2]
z = [3,2,2,1,1,1,2,3,2,4,1,5,3]

from scipy.stats import kruskal
kruskal(x, y, z)

KruskalResult(statistic=3.929213737190095, pvalue=0.14021099712855986)

¢ = Kruskal_Wallis_test([x, y, z])

Kruskal-Wallis test with multiple comparison
chisq = 3.9292, df = 2, p value = 0.14021

print ("chisq =", c["chisq"])

chisq = 3.929213737190111

"

print("p value =", c["pvalue"])

p value = 0.14021099712855875



